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MATH TEST

Directions(1-5): Read the following pic

chart to answer the questions given
below it.

1. If the total amount spent during
the year 1999 was ¥ 46000/ -, the
amount spent on food, was:

IfT a9 1998 & Fo @= T 46000/- BT AT

T Y TR =93 g9 & T -
(a) T 2000/ (b) T 10580/
(c) T 23000/ (d) T 2300/

2. If the total amount spent was X
46000/-, how much was spent on
clothing and housing together?

IS @ FeT T 46000/ - BT Al Ut AT
fAare o el fehceTr @ feham arar

(a) T 11500/ (b) T 1150/
(c) T 10000/ - (d) T 15000/

3. The ratio of the total amount of
money spent on housing to that
spent on education was :

g3f8 T W v 1 @1 &1, e o fFY

I Y F 3T T
(@5:2 (b)2:5
()4 :5 (dS:4

4. Graph shows that the maximum
amount was spent on :

Maths by Bhagwati Prasad Sir

e 7 @ frd Ag 9T 3RS dH TIA1 @I
femam aram

(a) Food (b) Housing

(c) Clothing (d) Others

5. If the total expenditure of the
family for the year 1998 was
346000/-, the family saved during
the year.

Ife a¥ 1998 & ,gRAR FT Tt #AGl W
Fel @I T46000/ g1 Al I, 37 ¥

GRER &Y o fehelelr 2T,
(a) ¥ 1500/ (b) ¥ 15000/
(c) I 6900/ (d) 3067 /- approx.

Directions (6-10) : The pie-chart given
here represents the domestic
expenditure of a family in percent.
Study the chart and answer following
questions if the total monthly income
of the family is ¥33,650.

Expenditure on food
Expenditure on house-rent

Expenditure on entertainment.

o o w »

Expenditure on education and
maintenance of children

=

Medical and miscellaneous
expenditure.

F: Deductions towards provident
fund.
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6. The house rent per month is :

gfa#ATg TR fhder &
(a) T 6000 (b) T6152
(c) T3 6057 (d) T 6048

7. The annual savings in the form of
provident fund would be.

NISE Beg & T H ¥ g0 Sd |
(a) T 48,456 (b) T 48,540
(c) T44,856 (d) ¥45,480

8. After provident fund deductions
and payment of house rent, the total
monthly income of the family
remains.

T o e % § FedT F a9
afare & Arfees A fhder sadr gl
(@) T 23,545 (b) T 24,435

(c) ¥ 23,555 (d) T 25,355

9. The total amount per month, the
family spends on food and
entertainment combined together is:

IRAR GaRT STl TUT AARSTT 9T ol
fordar @< fe=am Sar &1

(@)% 11,432 (b)X 11,441
()X 12,315 (d) X 12,443
10. Had there been no children in the
family what would have been the total

savings of the family including that
provident fund ?

I IRATE | Fls AT g7 7 7 af aard 39
TAT | TRATT T Fd F9d TTASe Fre Hl

Maths by Bhagwati Prasad Sir

TR foRaeT 2R

(a) T 12,667.50 (b) %
12,625.50

(c) ¥ 11,727.50 (d) T
11,777.50

Directions (11-14): The pie chart
given here shows expenditures
incurred by a family on various items
and their savings which amounts to
8,000 in a month. Study the charts
and answer the questions based on
the pie-chart

11. How much expenditure is
incurred on education ?

6T IR fohaer @< forar aram|
(a) T3,000 (b) T 5,000
(c) T 4,000 (d) T 7,000

12. The ratio of the expenditure on
food to the savings is

AT TAT F= G2 o6 T GHT 7 AT

ERIE]
(@) 3:2 b)2:1

(c)4:3 (d 3:4

13. What is the total expenditure of
the family for the month ? 9RAR &
SaRT T 14T HEA HT Fel T TATC|
(a) ¥ 40,000
(c) ¥ 45,000

(b) T48,000
(d) T 50,000
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14. How much more amount is spent

on food than on housing? g3fAT &

Mot W Tohdar 318 I foham Ir=am|
(a) T 1,000 (b) T 3,000
(c) 2,000 (d) ¥2,500

Directions (15-17): The pie-chart,
given her, shows the amount of
money spent on various sports by a
school administration in a particular

year.

Observe the pie chart and answer the

questions based on this graph.

15. If the money spent on football
was ¥ 9,000 how

much more money was spent on

hockey than on football ?

uﬁww%mwaﬁ T 9000 &,

ol ST glehl TR PedTel H fohelalr 31f8h

=T T =T
(a) T 11,000 (b) ¥ 11,500
(c) ¥ 12,000 (d) ¥ 12,500

16. If the money spent on football
was T 9,000. What amount was spent

on Cricket ?

Iie PpesTel 9T fohar aram @& T9000 gl dr

IR forehe 9T foraer @ fomar aram|
(a) ¥ 31,000 (b) T 31,500
(c) T 32,000 (d) T 32,500

17. If the money spent on football is ¥
9,000, then what was the total

amount spent on all sports ?

aﬁww%mmaﬂ Z 9000 &

ar gar g @et o Faer afer @ iy
AT

(a) T 73,000 (b) T 72,800

(c) T 72,500 (d) T 72,000

Maths by Bhagwati Prasad Sir
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DIRECTIONS : Study the following pie-Charts carefully and answer the 4

questions:

frger : PafafEa as-ardt @1 eareras sreaaer ST 3R 4 g2t 1 3ea g

&

A = Science /a1
C = Art/sell
E = Catering /dTeT-Ylel

Percentage distribution of candidates
studying in various discipline of a
collage. Total number of students =

5,000/ Ueh Ploll & TAfHeT fawAT 7 Ugst
grer 379ITHIT &1 gfaerd faavoT|
faenfdat & et FEar =5,000

18. The number of girls studying in
Engineering discipline is:

Sl er fawT # ggat arell @isfhar $r
(a) 180 (b) 220
(c) 240 (d) 260

19. the discipline which has the
highest number of boys studying in
it, is:

B
10% %

8%

%

B = Management /Ja¢ |
D = Commerce/dl0sy
F = Engineering /gl a T

Percentage distribution of girls in
each discipline of the same collage.

Total number of girls = 2,000/ Ts
Piclal & Ycdh [avT # orsferar 1 gfaerd
fareRoT| ersfeRat @ el H&T = 2,000

ag T a1 AwT g, f99# Jear are oI5
$r TEIT gy 3HAH g7

(a) Art/<pell
(b) Commerce/dTfoIeg
(c) Management /9§

(d) Science /faaTeT

Maths by Bhagwati Prasad Sir
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20. The percentage of the boys
studying in Management discipline
comparing to the total number of
students studying in that discipline
is:

gae AT H 31T T drel ISehi T
gfaerd 39 AT 7 31T il drel Sl

Y ol TEAT I JofodT A fohefetl 7

(a) 68 (b) 64
(c) 58 (d) 48

21. The percentage of the number of
girls studying in Catering discipline
comparing to the total number of
students in the college is:

TIA-9TeT fawT & 3r¢TTeT Shlolol H ST Sl

ol TET T JolelT H fohca g7

(a) 2 (b) 3

(c) 4 (d) 8
Directions(22-24): The pie charts
given show some automobile parts
manufactured by an automobile

company at its Pune and Nagpur
plants in the year 2009.

Study the pie charts and answer the
questions

Nagpur Plant Pune Plax-xt

22. If the Nagpur plant produced
8,00,000 tyres, then the number of

horns produced by it was .

Ife AT €I @RI 8,00,000 TRR
S I dl S 36 IT SaRT fehelel
HIq carfed o T

() 12,000 (b) 18,500

(c) 75,000 d) 60,000

23. How many percent more tubes
were produced at the Pune plant than
those produced at the Nagpur plant ?

qu §IT H fhdel % 38 e AT
I Y oIl H Scarfed |

(a) 14% (b) 12%
(C) 8% (d) 3%

24. The ratio of number of horns
produced at Nagpur Plant to that
produced at Pune Plant is

SATITYY AT YOI & T SaRT Scqrfed
ﬁgﬁ@r&&m T 3TeTdTc I |

(@) 3:7 (b) 10 : 3
(c)7:3 (d) 7:10

Directions: Percentage of different
types of employees in a company in
two consecutive years. Study the
graph carefully and answer the
following five questions:

fA&en:- T U=y & SRTaR ar arelt &
fafeea R & waaRar 1 gfaera
SRATIT IrAT §| (ITH T €I F UGl TLAT
+ 3 ¢ )?

Maths by Bhagwati Prasad Sir
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Percentage of Employees i

Total NO. of employees Total NO. of employees

25. In 1997 the total number of
which of the following types of pairs
of employees was approximately

equal to A type of employees in 1998
?

a¥ 1997 # foir H ¥ et & IR &
HATRAT T ol TET, 1998 H A TR
& FHAIRAT T F&IT & &R AP

(@) D and E (b) C and D

(c)Aand C (d) Band C

26. From 1997 to 1998 in the case of
which of the following types of

employees the change was maximum
?

1997 & 1998 # fohd YR & HadTRAT
T IR FAIfee ATl
(a) C (b) D
(c) B (d) A

27. What was the approximate
difference in the number of B type of
employees during 1997 and 1998?

ay¥ 1997 2T 1998 # B Y& &
FEATRAT &7 3} ford= g2
(a) 2620  (b) 2085

Maths by Bhagwati Prasad Sir

(c) 2285  (d) 2325

28. If the number of D type
employees in 1998 was 5000. What
would have been its approximate
percentage in the company ?

Ifg 1998 # D TR & HAATRAT
HE&IAT 5000 A, dF Jg sl & FAATRI!
T fohdelT gfdera 4l

(a) 14 (b) 10

(c) 12 (d) 16

29. The number of A type employees
in 1998 was approximately what
percent of the number of A type
employees in 1997 ?

1998 # A Y& & SR T T&T,
1997 H YR o HaTRAT Sl T&AT T
ERGIRIGHGE

(a) 125 (b) 95
(c) 115 (d) 140

Details of percentage of employees
working in various departments in an
organization and number males
among them.

Total number of employees =800,

Department
Production

IT
Marketing
Accounts
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30. The respective ratio between the
number of females working in HR
department to the total number of
employees working in the HR
department is

HR fasmr & $RRaG & Afgansit HR aur
fasmr & FRRA Fo FAARA Hr wE=T
# U TA|

(b) 8:17

(d) 5:17

31. The percentage of the number of
male emolovwe working in Marketing
department to the total number of
employees in Marketing department
is

ATHTET fTRT 7 S =R arer JTefAAT
T TET, ATKIET AT F SR Fel
FHATRAT HT TE&IT &1 fhad=r % gl

(b) 86%

(d)91%

32. The percentage of females
working in IT depart ent to the total
number of employees working in the
orgainzation is

IT fa$I1eT & R A3t & dear, Hor

(@) 7:10
(c) 8:19

(@) 84%
(c) 88%

FHATRAT HT TE&IT &1 fhde % g
(@) 10.25% (b) 10.75%
(c) 15.25% (d) 15.75%

33. The ratio of number of males in
marketing department to the number
of females working in that
department is

AT TqemaT & R g&ST 2 Rt

fracar A 3T Iy |
(a) 52: 7 (b) 52 :9
(c) 55 :7 (d) 55:9

Direction (34 - 38) : Study the bar
diagram given below carefully and
answer the following questions based
on it.

40

30— 30

Birth rate (per thousand)
¥

g ;
O

ikl |

England '5

-_Sweden 1]

New Zealand
any |o

India

China

Countries

34. The birth-rate of which country is
25% more than that of Germany ?

P T A FeT T, T A =7

25% 3fee gl
(a) India (b) China
(c) England (d) New Zealand

35. The birth rate of India is what per
cent of the birth-rate of England ?

R FT ST T, 3IUS HT STed T Fl
frast % g

(8) 165% (b) 155%

(c) 140% (d) 100%

36. The birth-rate of China is how
many times the birth-rate of
Germany ?

TN TeH T, TN Feq T A

Rerelt Y
(a) 0.4 (b) 5.2
(c) 4.0 (d) 2.5

Maths by Bhagwati Prasad Sir
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37. What is the ratio of birth-rate of
India to that of Sweden ?

HI AT TS T SToH-GI T 3feqaTel
A |

(@) 5:11 (b) 11:5

(c)2:1 d1:2

38. By how much percent is the
birth-rate of En gland is less than
that of New Zealand ?

SIS T SToH & % gSilelvs i 5o d el
% & fahclall e g2

(@) 30% (b) 33:%

(c) 50% (d) 45%

Direction (39-42): Study the following
graph and answer the questions
given below it.

Production (in 1000 tonnes)

20012002 2003 2004 2005 2006 2007 2008
Years

39. What was the percentage decline
in the production of salt from 2003 to
2004 ?

ay¥ 2003 ¥ 2004 d& dHF & 3cUIGT H

fordeT % e 3|
(@) 64.2% (b) 180%
(c) 62.4% (d) 107%

40. The average production of 2004
and 2005 was exactly equal to the
average production of which of the
following pair of years ?

a¥ 2004 dAT 2005 1 3irEd 34T

fomsT & & forg 391 & 3iad e &
SR B

(a) 2006, 2007  (b) 2005, 2006
(c) 2002, 2006  (d) 2001, 20005

41. What was the percentage increase
in produc tion of salt in 2008
compared to that of 2001 ?

ay 2001 @rgamﬁ,aérzoos H AT &

3cate # fohdel % H i g3
() 55.5% (b) 125%
(c) 150%  (d) 220%

42. In how many of the given years
was the production of salt more than
the average production of the given
years ?

= 7 @ foFaa aut & JH7% &1 3cUe,
3N 3cutesT & iR @l

(a) 1 (b) 2

(c) 3 (d) 4

Directions(43-406): The histogram,
given below Show the number of
famailies of a locaity having various
daily incomes, as obtained by a

survery. Observe the graph and
answer the questions based on it.

Maths by Bhagwati Prasad Sir
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Daily incomes in rupees—>

43. In all, how many families were
surveyed ?

oot TRt Riciet TR@RT 7 FfaTor R
T |

(a) 235 (b) 220

(c) 200 (d) 195

44. The number of familes whose
daily incomes are ¥ 800 or above is

I I T HEAT Fqrd ot e e g
T 800 =1 399 38 g

(a) 50 (b) 55

(c) 65 (d) 80

45. The number of families, whose
daily incomes are below ¥ 200, is

I IRAT T HE&AT ot afv# T T 200
T g

(a) 25 (b) 20

(c) 15 (d) 10

46. What per cent of families have
their daily in comes less than I500?

fohae % TaTel it o gfafead ¥ 500 &
T B

(a) 90%
(c) 30%

(b) 45%
(d) 20%

Directions(47-50) : The histogram
shows the marks obtained by 45
students of a class. Look at the
histogram and answer the questions.

1 O fcsnnssacisaisFicsnssussosssssiscssnissisasnoranssasss
O I —
o 8
<R W (G W R -
ke
N e T s T s
B gl | e B
[5)
5 —
[ 3
: . r
Z A
1
0 10 20 30 40 50 60 70 80
€— Marks —>

47. How many students have
obtained marks 50 and above?

fohdel BT & 50 IT 398 S 3 ured
e

(@) 9 (b) 10

(c) 11 (d) 16

48. If the pass marks be 30. What is
the number of failures ?

e 3cltoT 37k 30 &Y, dl 3fIciioT g1l arel
BTl FE&IAT Id |
(a) 2 (b) 6
(c) 18 (d) 20

49. If the pass marks be 30, what is

the percentage of successful students
?

afe 3cioT 3/ 30 &Y, df e BT T %
AT |
(@) 75%
(c) 50%

(b) 60%
(d) 40%

Maths by Bhagwati Prasad Sir
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50. How many students have
obtained marks less than 10?

fohdel ©ET o 10 @ Fe 31 Ired T
(a) 2 (b) 10
()1 (d) 4

Directions(51-55): Study the graph
and answer the following questions.

'Colour T.V. sets of five companies
A,B,C,D and E for October 2006

mﬂm Demand - Production

3000

1300
.

2500
4700

number of televisions

A B () D E
Companies ———>

51. What percent of the demand of
company B is that of the company C?

$FYT B I AT, HeETail C hl HTIT hl

foraeY % &l
(@) 14% (b) 20%
(c) 24% (d) 26%

52. What is the difference between
average demand and average
production of the companies taken
together?

Tt srafaar &1 fAemeT 3T 3iga Arer
Jar 39 3cared & S 3ea} fohdar AT

(@) 1400
(c) 280

(b) 400
(d) 138

53. The average production of the
companies A,B,C and that of the
companies D, E are in the ratio :

Feqfadl A, B 9T C & 39d 3cureet &,
FHFAfAIT D JUT E & 30d 3cUiesT & a1
IegaTd I |
(a) 85 : 147
(c) 86 : 149

(b) 86 : 147
(d) 87 : 149

54. What is the ratio of companies
having more demand than production
to those having more production than
demand ?

3T & 318 AT @ aTell HFfraT
T Al & 3fF IcureeT I@eT arelt
ETSICRIEE IS GLIRERIR]

(@)2:3
(€)1:4

b)4:1
(d)3:2

55. How many times of the demand of
company A is that of the company D.

FFIAT A T %ol HIIT FFYAT D T ATIT T

fehctet a1 &1
(a) 1.4 (b) 1.5
(©1.84  (d)2.5

Directions (56-59) : The following
graph shows the production of wheat
flour (in 1000 tonnes) by three
companies X, Y and Z over the ears.
Stud the graph and answer the
questions.

Maths by Bhagwati Prasad Sir
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Production (in 1000 tonnes)

2000 20012002 2003 2004
Years —>

56. What is the difference between
the production of company Z in 2004
and company Y in 2000(in thousand
tonnes) ?

FFYAT Z GIRT I 2004 H 3cUTee ddT
HFTel! Y GaRT a¥ 2000 # o a1
IcdTesT (ToT #H) 7 fohdeTl 3R &

(@) 100
(c) 20

(b) 200

(d) 2

57. What is the ratio of the average
production of com pany X in the
period 2002-2004 to the average

production of company Y in the same
period ?

a§ 2002-2004 & FHATeRTS H HFTs]
X SaRT fRaT 3137 3T 3cdrest aam
FFIAT Y GaRT S8 HAeRTel H [y a1

3N 3cUTes o &I T S|
(@1:1 (b) 15: 17
(c) 23 : 25 (d) 27 : 29

58. What is the percentage increase
in the produc tion of company Y from
2002 to 2003 ?

FFIAT Y & 3cTeT H a8 2002 & 2003
w%ﬁ%ﬁra@mﬁgﬁrl

(8) 142 % (b) 16> %

(c) 25% (d) 40%

59. The average production for five
years was maxi mum for which
company(s) ?

qrar aut & TR HFTAT T 3G

3R ghem|
(a) Xand Z both (b)Y
(c)z2 (d) X and Y both

Direction(60-62): Read the graph and
answer the

Directions (380-382): The following
bar diagram shows the percentage of
Hindus, Sikhs and Muslims in a state
during the years from 2004 to 2007.
Examine the bar diagram and answer
the following question.

70 + Hindus [ Sikhs [ Muslims

65 =1~ o et e - -
[T pose—— .

Sikh population in 2004 was ¥ 2004
A foeg, duT ey SHaEar & &I Jequrd
S|

(@3:5
(c)2:3

(b)1:2
(d)3:4

Maths by Bhagwati Prasad Sir
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61. If the total population of the state
in 2004 was 5 lakhs. then the
Hindus, and Muslims population in
that year was

Ife a¥ 2004 # AT T Fel SIAHEAT 5
g o, a9 39 av fReg ur Hiers

STIET el fohdair 27|
(a) 200000 (b) 275000
(c) 250000 (d) 225000

62. If the total population of the state
in 2005 was 5 million, then the
Hindu population was [1 million =
10,00,000]

gfe a¥ 2005 H AT A FTATEAT 5
ATt o A feegatt hr Sereear fahdsir
Y| (1 fAfer™er = 10,00,000)

(a) 2000000 (b) 1250000
(c) 1500000 (d) 1750000

Directions (63-65): Shown below is
the multiple bar diagram depicting
the changes in the roll strength of a
college in four faculties from 2001-02
to 2003-04.

Number of Students

Zh BB
2001-02 2002'03- Commerce

Law
[ Science =

Study the above bar diagram and
answer the

questions.

63. The percentage of students in
Science faculty in 2001-2002 is fa=TeT

T H ¥, 2001-2002 F SHET & %
gard|

(a) 30.2% (b) 26.9%

(c) 27.8% (d) 29.6%

64. The percentage of students in
Law faculty in 2003-04 is

ay 2003-2004 F fafer & omEr &1 %
ard|

(a) 14.8% (b) 18.5%

(c) 15.6% (d) 16.7%

65. Percentage of increase in Science
students in 2003-04 over 2001-02 is

a¥ 2003-04 # a¥ 2001-02 o FHehleel

TaTeT TohrT & BTEr S T&AT H fohds %
$r 9fg &3

(a) 75% (b) 50%

(c) 150% (d) 66%

Directions (66-69): The subdivided
bar diagram given below depicts the
result of B.com students or college for
3 years. Study the graph and answer
the given questions.

Maths by Bhagwati Prasad Sir
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¥ divie S
[::] First Division l l‘wwundlhvmum
III Third Division l |lmhﬂ
>

2006 2007 2008
Years

66. How many percent of students
passed in first division in 2007 ?

ay¥ 2007 & guq Aol & 9 g arer

OEl & % Td|
5O

(8) 15=%

(c) 165% (d) 12:%

67. What was the pass percentage in
2008 ?

a¥y 2008 H 3cdioT BTET HT % A |

(a) 33:% (b) 82-%
(c) 75% (d) 78%

68. What was the number of third
divisions in 20067?

a¥ 2006 # Felrr Aol 7 Fecof giet areit
oMl T J&T Id |

(a) 60 (b) 140

(c) 59 (d) 120

69. In which year, did the college

have the best result for B. com ? T

¥ # a1y AW &7 ga9vs aRoma
Tl

(a) 2007 and 2008 (b) 2008
(c) 2007 (d) 2006

Direction:- The graph shows the
demand and production of different
companies. Study the graph and
answer the question nos.

& .- U 91 % & R Fuierat &
HIIT TUT 3cITCaT T SRITAT ITAT & | ATH Sl
&1 § G 9241 & 3cal &

4
0—
el Units(in lakh metric tonnes)

6000

5000

5000
4000

@ Production
8 Demand

3000
2000

10004

O AT B" C' D' E" F'
Companies

v

70. What is the ratio of the
companies having more demand then
production to those having more
production than demand?

3cuTesT & 3118 AT arely Sufaar g
3caTeeT A A ﬂﬁmmwaﬂmﬁ
FIT &7

(@) 1:2
(c)2:1

(b)2:3
(d) 3:2

Maths by Bhagwati Prasad Sir

Page 13



— SAFALTA CLASS

tative by RIS

71. The demand of company B is
what percentage of the production of
company A ?

HUAT B &T AT, el F & 3cATGed &l

ERGIRIGEGRY,
(@) 50% (b) 70%
(c) 80% (d) 60%

72. The production of company A is
approximately what percent of the
demand of company C?

YT A I 3cUIGsT, el C & HIT &l
foraar ufaera g2

(@) 50%  (b) 60%

(c) 55%  (d) 65%

fAFATI & I 7 Teh theredl ganT ay
2009 & 2014 T dTgeT & &l YR (P Uq
Q) & 3cUTesT @ (§oTR 3 ) gouTar arar ¢
IH HT AEIIA HifoTe AR A Gu 1w
9T 9R&AT HI I GITAAT:

A _"“Type P/?Tfﬂp
W ~*~Type Q/ ztv @

275 1t 275 275

75 L 100

2009 2010 2011 2012 2013 2014
Year/a4 —»

Number of vehicles (in thopiands)
«— arEt @ e (W W) —
—
o N
ou

73. Approximate percentage decrease
in production of Types Q vehicles
from 2010 to 2011 is

ay¥ 2010 ¥ 2011 T BT Q aTgaAT &
3cUTCeT H SIITedT fohdet Ifaerd &al H1S?

(a) 14.3
(c) 16.3

(b) 10.1
(d) 12.5

74. The ratio of total production of
Type P vehicles to total production of
Type Q vehicles over the years is

few a1 asf & ey P argal & el IcdTes

3R @89 Q argal & ol 3cUTEa

37T T g2
(@) 41 :48 (b)5:8
(c)8:5 (d) 48 : 41

75. The production of Type Q vehicles
in 2010 was approximately what
percent of Type P vehicles in 20147

2010 H €89 Q dTg=il &l 3cdiged 2014 &

TI8Y P & 3cUTGe ol fehdell Tfcrerd ar?

(a) 60
(c) 54.5

(b) 45.5
(d) 75

76. In how many of the given years,
was the production of Type P vehicles
of the company more than the
average production of this type
vehicles in the given years?

few a1 fohaer aut & Fusr &y ey P
aTgeAl T 3cUTeeT U 1T auf & 57 a3y &
argat & 39T 3care O fohder e ar?
(a) 3 (b) 5

(c) 2 (d) 4
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77. The total production of Type P
vehicles in the year 2009 and 2011 is
what percent of total production of
Type Q vehicles in 2010 and 20147

¥ 2009 3R 2011 & 189 P argat &1
Fel 3cUlest 2010 3R 2014 A BT Q &
el ScUTeT T fohclalT Tfderd ar?

(@) 81.25  (b) 75
(c) 80 (d) 69.25

Directions (78-81): A survey of movie
going its of city dwellers from 5 cities
AB,C, D and Eis given below. The
first column gives the percentage of
viewers in each city who watch less
than two movies a week. the second
column gives the total number of
viewers who view two or more movies
per week. Study the table and answer
the questions.

City I II
A 60 2400
B 20 3000
C 85 2400
D 55 2700
E 75 8000

78. How many viewers in city C
watch less than two movies a week?

AR C #H fohclel g Tedg # 11 & &A
fhed d@d 1

(a) 2400 (b) 13600

(c) 16000 (d) 3600

79. The city with the lowest number
of movie watchers is

forar Qg # geent T HE&AT wAaH B

(a) City E (b) City D
(c) City B (d) City C

80. The highest number of movie
watchers in any given city (in the
survey) is

R off 28R & Thea gt &1 3iferde
&1 IR |

(a) 36000 (b) 32000

(c) 6000 (d) 16000

81. Which two cities have the same
number of movie watchers ?

leT | 2T A 3 Geehl T HEAT FATA g
(a) Cand E (b) C and D
(c) Aand B (d) D and A

Directions (82-85): Number of toys of
five types (A to E) manufactured over
the years (in thousands) is given
below. Study the table and answer
the following question.

Type|A B |c |D [E
Year
20021200150 7890 [65
2003]150[180100105[ 70
2004 (180|175 92l110[ 85
2005(195]160/120f125 75
2006]220[185130135 80

82. The approximate percentage
increase in production of D type of
toys from 2003 to 2005 was.

D YR & f@dlar & 3cdreed # a¥ 2003
T 2005 ofeh ST Tehelel Gfcrerel T gig
]

(2) 5%

(c) 29%

(b) 19%
(d)25%
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83. The percentage drop in (a) 9% (b) 10%
production of A type of toys from () 11% (d) 12%

2002 to 2004 was
85. The difference of the average

A YR & T@ellsl & 3cdiest #a¥ 2002 @ number of toys (in thousands) of the

2004 T fhaer % I FHAY eS| type B and C manufactured over the
> years, was

a) 10% b) 20% -
fa) 10% (b) 2% Ry Ty st 31 B SR 3 Ry 1 st
(c) 25% (d) 305% .

, TEAT JUT 'C' ¥hR & @il $ir 3iaa
84. The approximate percentage

increase of the production of all types HEIT & AT Aok T (FIR H)?
of toys from 2005 to 2006 was (a) 52 (b) 66

I 2005 ¥ 2006 T FH TR & [@eAlA () 63 (d) 72
FI 3cATEs TSI fohdel % e

e ——
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